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2018
2nd Semester

ECONOMICS
PAPER—GE2T

{Generic' Elective)
 Full Marks : 60
Time @ 3 Hours -

The figures in the margin indicate full marks.

Candidates are required to give their answers in their
own words as far as practicable.

Mustrate the answers wherever necessary.

Group-A
1. Answer any ten questions from the following : - 10x2
(g) What is transfer earning?
(b) What is open market operation ?
I(c) What is liquidity trap?

{d) What is stagflation ?
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{e) Write the implication of horizontal pért of LM curve,

di Write the fedtures of labour supply curve of an
economy,

{g) What is real wage ?

(h} What is the “Say’s Law” ?

(i} What is IS curve ?

) What is money ?

(k) What is hyper-inflation ?

( Distinguish between real GDP and nominal GDP.

-
(m) What is the impact of increase of Pprice level on LM

curve ?

(n) What is the difference between CPl and WPp] ?

(o) What is classicalrdic'hotomy?

Group-B
Answer any four of the following questions.  4x5

2. Distinguish between GDP and GNP,
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9.

10.

Distinguish between demand pull inflation and cost push
inflation.

What is multiplier theory ? Analyse briefly the relation
between investment multiplier and marginal propensity

to consume.
Briefly explain the circular flow of National Income.

What do you mean by quantity theory of money ? Shortly
explain Fisher’s version of quantity theory of money.
' 2+3

Balance of payments always balances’ — Explain.
Group-C
Answer any two of the following questions. 2x10

Explain different“mcthods of measuring of National
‘income in an open economy. :

'Describe briefly the determination of output, employment
‘and wage in classical system. '

. Analyse the process of credit creation of the commercial
' banks of an economy.
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11. Explain the determination of equilibrium level of income
iri the Simple Keynesian Model. Analyse whether the
equilibrium is stable are not. 6+4
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